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𝑀𝑎𝑥 𝐸𝐸 = [(𝛽0𝑌 +
1

2
𝛽1𝑌

2) − (𝑎0𝑋 +
1

2
𝑎1𝑋

2) ]



𝑌 − 𝑋 ≥ 0

𝛽0 + 𝛽1𝑌 = 𝑎0 + 𝑎1𝑋 +𝑀𝐶

𝑎0 + 𝑎1𝑋 = 𝑃𝐺𝐹

𝑌,  𝑋 ≥ 0

β β

β β



σ δ



𝑋 = 𝜎′0 + 𝜎1𝑃𝑀𝑅𝐹 + 𝜎2𝑃𝑀𝑅𝑀 + 𝜎3𝑃𝐹𝐸𝑅 + 𝜎4𝑇𝐸𝑀 + 𝜎5𝑃𝑃

𝑌 = 𝛿′0 + 𝛿1𝑃𝐶𝐹 + 𝛿2𝐼𝑁𝐺 + 𝛿3𝑃𝐶𝐿𝑡 + 𝛿4𝑃𝐶𝑇𝑡

𝑋 = 𝜎0 + 𝛼1𝑃𝑀𝑅𝐹

𝑌 = 𝛿0 + 𝛿1𝑃𝐶𝐹

𝜎0 = 𝜎′0 + 𝜎2𝑃𝑀𝑅𝑀 + 𝜎3𝑃𝐹𝐸𝑅 + 𝜎4𝑇𝐸𝑀 + 𝜎5𝑃𝑃

𝛿0 = 𝛿′0 + 𝛿2𝐼𝑁𝐺 + 𝛿3𝑃𝐶𝐿𝑡 + 𝛿4𝑃𝐶𝑇𝑡

𝑃𝑀𝑅𝐹 = −
𝜎0
𝜎1

+
1

𝜎1
𝑋 =  𝛼0 + 𝛼1𝑋       𝑐𝑜𝑛  𝛼0 < 0    𝑦   𝛼1 > 0

𝑃𝐶𝐹 = −
𝛿0
𝛿1

+
1

𝛿1
𝑌 = 𝛽0 + 𝛽1𝑌     𝑐𝑜𝑛 𝛽0 > 0     𝑦    𝛽1 < 1

𝑃𝑀𝑅𝐹 = −15555.5284 + 7.146𝑋

𝑃𝐶𝐹 = 128386.788 − 9.862476𝑌
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